SAMPLE PROBLEM 4 Locating the Image

A small toy building block is placed 7.2 cm in front of a lens. An upright, virtual image
of magnification 3.2 is noticed (Figure 7). Where is the image located?

SAMPLE ?Ri)ﬁiLEM 5 Finding the Magnification of a Bwergmg Lens

A coin of height 2. 4 ﬂm ts placed in front of a diverging lens. An &pﬂ—;ﬁ v:rtuai imaga
of height 1.7 cm is noticed on the same side of the lens as the coin {ngure 8). What is

the magnification of the lens?
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1. A Qonvm@g)ans has a focal length of 23 cm. A fmg i
[{ 32 crﬂmm the lens. Use the thin lens equation to calculate
" where the image of the frog will be located. =3 -
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2. A per Ci iS located 53 cm from a diverging lens. An upright,
o mdu !magf: of the pencil is observed 18 cm from the lens.

Lfse the thin #ens equation to calculate the focal length of
this lens. 807 &2
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8ns has a focal length of 34 cm. An upright,
— virtual image of a small booklet is located 13 cm behind
the lens. Where is the booklet located? 57
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: Atﬁuﬂve'rg@ﬁ)!ens has a focal length of 16 cm. An insect is located 2 lem behind
located 11 cm from the lens. Where will the image of the L Uns
insect be located? N

{
K€

e,

i N . /r%.\{ “‘ |2 9{: w‘g i
| | ; :

f {i J " ’ ey o Jé""ﬁ’j; :ﬁ} E‘:eﬂ Q € daey i,u" & “u,€

P 7 o

lemg B it §oarng

j ’ £ /{:‘I;}: -~
p 1 — 4 "Lgﬂ g WAL

,,,,,,

b 1 A, s1de ag At "—"’{i]f ok

%V

@ 2o 1
-0 (J t} \":,,FV‘E o, e




SNC2P ------meem- OPTICS 3.14 ---- CONVEX LENSES — Thin Lens Equation------- NAME

............................

5. A vase of height 12 cm is placed in front of a converging

lens. An inverted image of hmgh‘e 35 cm is noticed on the
other side of the lens ‘-

(a) Use the magnification equation to calculate the
magnification of the lens.

{b) What type of image is it?
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6. A playing card of height 14 cm is placed in front of a
converging lens. An inverted, real image of height 7.9 cm
is noticed on the other side of the lens. What is the
magnification of the lens?
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7. A postage stamp of height 2.8 cm is placed in front of a
diverging lens. A virtual image of height 1.3 cm is noticed
on the same side of the lens as the stamp. &

(a) What is the magnification of the lens?
(b) What is the attitude of the image?
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8. A small fork is placed 9.4 cm in front of a lens. An upright,

virtual image of the fork with a magnification of 5.6 times is
- observed. Ii B0 0

(a) Where is the image located? —— O(b 7
(b) What is the focal length for this lens? — 4=

{c) What kind of lens is this? Explain. —> Lonvery /V 97 [/ Mf’/%/
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